
Solution to Harvard Puzzle "Since 1882" 

P A S E R N O S T A G
E K I L L E R T I M E
R B A B I B A C O N N
I R V A N A P U N D I
T A I N U R A P E S T
I N G G R B T I G E R
F O O L A G E D G A L
A P R E T E N S E S I
N A S S E N T P R I M
O H O W L E D O D D E
R A R I O S O R I E T

 
The omitted letteres (in parentheses in the list below) spell 

THE HARVARD COOP 
 

Across 
1. PAS(T)ERN 
2. (H)OSTAGE 
3. KILLER 
4. TIMER 
5. BABI 
6. B(E)ACON 
7. NIRVANA 
8. PUNDIT 
9. AINU 
10. RAP(H)E 
11. STING 
12. G(A)RB 
13. TIGER 
14. FOOL 
15. AGED 
16. GALA 
17. PRETENSE 
18. SIN 
19. ASSENT 
20. PRIMO 
21. HOWLE(R) 
22. DODDER 
23. ARIOSO 
24. RI(V)ET 

Down 
1. (A)PERITIF 
2. ANORAK 
3. BRAN 
4. OP(R)AH 
5. ASIA 
6. VIGOR 
7. SOREL 
8. BANGLE 
9. SWIRL 
10. IN(D)URATE 
11. (C)LONE 
12. BARB 
13. GENE 
14. SORA 
15. PATENT 
16. DOST 
17. CUPID 
18. SPORT 
19. ION 
20. EGGER 
21. DIAM(O)ND 
22. SEASIDE 
23. GENIT(O)R 
24. LIM(P)ET 

 
Kevin Wald solved the puzzle in 45 minutes. 


